3apaya 3

program P; )5
uses cri; T,
gar x1, 82, vi, Y2, a, b, k., Niintegep;
begin
readlniN>;
readlnd{ii, Y15
readlndxZ, v2>;
if (x1<=nlandO2<nland{yl<{=pland<yZ<n> then
hegin
|
a==x1
bh:=yl

1 F,

it yZ24{>1 then

begin

a:=a2;

h:=Y2+1;

k:=k+ abs (x1-a>+abs{yl-h>;
end;

x1:=a;

yl:=h;

at=41;

h:=2;
ki=k+ahs{(xl—al>+ahs{(yl—-h>
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x1:=a;

yl:=h;

w1 S =a;

Elj- - ::i} -

ar=81;

h:=2:
k:=k+ahs{xl—-a>+tabhs{yl-h>
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X1 = =a;

yl z=h;

as=82+1;

h:=13;

ci=k+abs (xl—a>+abhsCyl—-hd>;
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x1:=as

yl:=h;

a:=1;

hi=1;
k:=k+abs(xl—-a>+abs<{yl-h>;
enid

else ki=—13;

writelndk>;

readln
end.
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program p;
uses cre;
gay a.-h. . myn. nl, kiinteger;
begin
preadlna, b, c¢2;
m:==13;
ka2=M;
while m<{=c 2 do
begin
mi=m+l;
N="C"Ty
ml:s=m;
nlz=n;
while <ml>=a’and<inl>=blroriml>=blandi{nl’>=a?> do
hegin _ ;
1f 111}31 then mi:=mi-nl else nli:i=nl-ml;
if <{mil=adand<{ni=blori{mli=hlandinl=a) then k:=K+1;
end;
end;
writelndck?;
readln
end.
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program ps;

mneses crc,

var n. a,. b, x,

hegin
readlnin);
ar=—13;

me=

begin

a-==a+l;

b:=n—a;

y:=hj;

k= =;

=z =03

while z=0 do

begin
if x mod 10=7 then k:=k+1;
x:=x div 103
if v mod 10=7 then ki=k+1;
yr=y div 103
if Ge=land{y=0> then =z:=1;

end;

if k=m then g:=g+l;
if k>m then

hegin

m:==K;
g:=1;
end;
if m=0 then g:=0;
if a=n then w:i=1;
end;
writeln (g,’ ’.m2;
readln
end.
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